Ay EE R R L
B EHEA

ERRICBTAERE T EtHRO_E=ZHORARICLYSIELIFEAIFFIETIFOR=EIRA
E-THIZIBIFRES (REERE)

WBEORBICRTHEE
(x) % {y)

=]
EBHEEFRBA
EBRBEFRBAL
EmES
HBBE

B -ARA-KEEERS
BEREERS
EDhOBE

F5 @ 2.0825

BHEEOESE+EEO ESHOREERVEBRENRE— DE (RERE)

= 2 IR ER | EHE{E |UNSTEE-FEE{E | RBRBRERE
BAORZ @ | &) | B—0E
EENEEEES —
SREEERBE LN OEHTRE 7
=8 e
SHIFERER 0.06 0.23 -0.17 85/100
BR-HR-KEEERES e
EREERES
TDHORE
(B%E) .
EFHAEREZTHRICET23E
BE O R 5 %&%@%ﬁﬁ({:}%f%?ﬂé
Y.
EEHEPREE o M1
ERAEERBEUNOAERS Foy D 1.07
EWME F5 @ 3.39
SHIAREE F5o D 2.45
BR-ARKEZERE F45 D 1.65
BREEREE T O 4.18
ZDOES T4 @ 1.08




